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Represent the following decimal nos. i

BCD & gray code :
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(7) Explain the Assembler and Cro
Assembiler.
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(8) Explain the principle of stack.
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(9) perform (—35) — (+40) with negative 1§
in signed 2’s complement representatioﬂ-i
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State Whether True or False -

Axnithmetic operation with fixed point nos.

take longer time for execution as compared
to with floating point no.
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(4) Explain the difference between memg

mapped & IO mapped.
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(5) Explain the use of sub routine with the help
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X = ABC +ABC + ABC + ABC + ABC
(7) Draw the flow chart for adding |
subtracting two fixed point Binary nos.
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How many 250x8 ROMS chip are requireé
to produce a memory chip of four thous&
bytes? How many address line are requi’®
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(a) Explain Flynn's classification of computers,
Fiyon % SeE aifieo S HaE e
(») What is a microoperation of list? Explain
four gateognes of most common
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\ (b Explain the concept of virtual memory with

help of diagram.
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